
Corrigé exer
i
e 30 :

Par le
ture du 
er
le trigonométrique, S =

{

−
3π

4
;
3π

4

}

.

Corrigé exer
i
e 31 :

Par le
ture du 
er
le trigonométrique,

[

−π;
−π

6

]

∪
[

π

6
; π

]

.

Corrigé exer
i
e 75 :

Par le
ture sur le 
er
le trigonométrique :

1. S =
{

−
π

2
+ 2kπ

}

ave
 k ∈ Z.

2. S = {π + 2kπ} ave
 k ∈ Z.

3. S =

{

−
π

6
+ 2kπ;−

5π

6
+ 2kπ

}

ave
 k ∈ Z.

4. S =

{

−
2π

3
+ 2kπ;

2π

3
+ 2kπ

}

ave
 k ∈ Z.

Corrigé exer
i
e 76 :

Par le
ture sur le 
er
le trigonométrique :

1. S =

]

−
5π

6
;−

π

6

[

.

2. S =
]

−
π

3
;
π

3

[

.

3. S = [−π; π] 
ar, pour tout réel x, sin(x) > −1 > −2.

4. Au
une solution 
ar, pour tout réel x, cos(x) > −1.

Corrigé exer
i
e 83 :

1. S =

[

−π;−
2π

3

]

∪
[

−
π

3
;
π

6

]

∪

[

5π

6
; π

]

.

2. S =

]

−
3π

4
;
−π

6

]

∪

[

π

6
;
3π

4

[

.

1


